' GROUP 2 ENGINE SYSTEM

ENGINE AND ACCESSORIES MOUNTING

<

Te]

<
.“W.\o

A

@kg@@ /wﬁ @va

©

Air cleaner

\

~ o= \M‘%A@«V@@

210N99CMO1

- Tightening torque

@

N |~
= |~ AN W0
o H|H[H
S | o|la

290

~ |~

o|lu|ao
E |~ || N
S A H
2 285

S|w o

=

Te]

N |Q
e123
N | X| X | X
NN o |

- Al

= ==
m456
=

- |

Clo|la
= | ||
o H|H|H
2 |~ |9

[celiN e Ne)]

— | < | W0

v~
€ |lo|l~|+
oA A
[N (o NN e)}
~ la|o| N

[o0]
o

Qv
e.4|1
NSl x| X

o | o
8811

= ==
m123
=

9-2



COOLING SYSTEM AND FUEL TANK MOUNTING

Air compressor

Condenser

Needle valve~

Charge 22
air cooler—

210N99CM02

- Tightening torque

ltem Size kgf - m Ibf - ft ltem Size kgf - m Ibf - ft
1 M6x1.0 1.05+0.2 7.6+1.45 6 M16 x2.0 20.7+45 215+325
2 M8x1.25 25+0.5 18.1+£3.6 7 | M20x25 46+5.1 333+36.9
3 | M8x1.0 45+0.9 325+6.5 8 | M20x25 57.9+8.7 419+62.9
4 | M10x1.5 6.9+14 49.9+10.1 9 - 23+0.6 16.6+4.3
5 M12x1.75 | 12.8+3.0 92.6+21.7






